AN sttERSH
B =A2 M4 S5 - 0PI SSH(STHLSN/5Y - 5E5)
(s B [ P ge AR v~ EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
stte=sSHh 55,008,303 68,261,327 13,203,024
= 5,272,332
Jl 6,942,9%
= 42,842,975
sttE i 25 - 0PIE e (sElLsd/s - S&) 55,026,800 68,230,263 13,203,463
= 5,272,332
7l 6,942,996
L= 42,811,472
relGlPagze WARE] A 22,493,489 18,626,916 3,866,573
= 4,4%,282
Il 5,756,996
= 12,240,211
ANZEN3EHEH L 377,760 663,095 N285,335
202 04| 2,760 2,300 460
01 =LHO LI 2,760 2,300 460
OAESN % Hat=7 HRFA 2,760
403 AXIEHMSAH=0lH 375,000 660,795 N285,79%
01 A= 2L 375,000 660,795 N285,795
ObldoteA st 300,000
OAIZ30 & 75,000
ooty 2dst 929,432 864,875 64,557
308 AFAIEHMSOIE 302,300 163,000 139,300
01 AXHNBSEES 302,300 163,000 139,300
OdMsatE rya & oldet & 302,300
403 X SHHMSAH=01H 627,132 701,875 ANT4,743
01 AR A= 2 £ 627,132 701,875 INT4,743
Odl=atE rFda & olact & 627,132
HAs aorgdat 1,002,760 1,002,300 460
202 04t 2,760 2,300 460
01 =LHOHI 2,760 2,300 460
O rFdL gRFd 2,760
307 212+01& 1,000,000 1,000,000
02 QIS ER 1,000,000 1,000,000
oMaz =x52t8 s =8N 1,000,000
DAXITHA CHE A 423,000 746,000 A323,000
308 XXM SOIA 384,000 656,000 A272,000
01 XN BELES 384,000 656,000 A272,000
OLHXITHA CHYMAE X & 384,000
403 MR SHHMSAHE01H 39,000 90,000 /51,000
01 AXISHHA 22 % 39,000 90,000 /51,000
ORI X 7SIIE 2= 39,000
=P A 7S 373,503 868,400 A49A4,897
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AN sttERSH
B =A2 M4 S5 - 0PI SSH(STHLSN/5Y - 5E5)
(s B [ P ge AR v~ EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
202 04l 2,760 2,300 460
01 SLHoIH 2,760 2,300 460
Odt=32t3| gRFA 2,760
403 AXIEHMSA=0ld 370,743 866,100 AN495,357
01 A= 2L 370,743 866,100 AN495,357
Ot 2HH ML 112,500
O3 ditzs K& 90,000
Og3ta Jlgtxd 147,000
O3slsJt Xl MEd =4 21,243
elalerry 122,400 242,240 119,840
202 04dl 2,400 2,000 400
01 =LHOHI 2,400 2,000 400
OQIYIIEIEH HRFA 2,400
308 AtXIEHMSOIE 15,000 30,240 15,240
01 AXEHH B EES 15,000 30,240 15,240
Oelar zletA THbH 15,000
403 NHXISHMSAH=01H 105,000 210,000 105,000
01 AR A= 2 & 105,000 210,000 105,000
OLNZE Qs HAMAIE XA 105,000
SH3LEHNL 16,000 30,720 A14,720
201 et23 | 2,000 0 2,000
01 AtR2te|HI 2,000 0 2,000
o2z HEHX =4 82d 29 2,000
403 AXIEHMSAH=201H 14,000 30,720 16,720
01 MHAIHH 22X 14,000 30,720 16,720
o= A0IEE sS4 14,000
ANE201 Sttt XA (A0S (=1) 422,798 709,699 1.286,901
Jl 340,966
=S 81,832
403 X SHHMSAH=01H 422,798 709,69 286,901
Jl 340,966
< 81,832
01 AXISHHA 22 % 422,798 709,69 A\286,901
OAIZ 20 Hat 422,798
) 340,966
== 81,832
A0 SUiat XA (D= IO THHAIE) (2 2) 230,100 98,800 131,300
7l 177,000
= 53,100
403 AXIEHHSAH=01H 230,100 98,800 131,300
Jl 177,000
== 53,100
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AN sttERSH
¥ sitE 44, {8 - 0DIE e (sElLsd/sE - 5&)
(s B [ P ge AR v~ EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
01 XM= 2L 230,100 98,800 131,300
O HIDIE MEHAIE 230,100
J| 177,000
< 53,100
HA0Z0F ICTESE KN (ADEY AEES)(2D) 105,700 37,308 68,392
Jl 85,242
= 20,458
403 AXIEHHSAH=201H 105,700 37,308 68,392
Il 85,242
= 20,458
01 AXISHHA=2EXE 105,700 37,308 68,392
OANIEHE ANEES 105,700
Il 85,242
s 20,458
2020 ICTESE N2 (ADEE 244=)(=21) 390,000 260,000 130,000
) 300,000
S 90,000
403 AXIEHMSA=01d 390,000 260,000 130,000
Jl 300,000
= 90,000
01 XISHHA =2 390,000 260,000 130,000
OANIEE 2&adlx 390,000
Jl 300,000
= 90,000
sSHZ0F oiUXoIBEE3HUUXIBZAEXIR)(2D) 528,498 441,457 87,041
Jl 426,208
< 102,290
403 MR HHMSAHE01H 528,498 441,457 87,041
) 426,208
= 102,290
01 A2 2 528,498 441,457 87,041
OUUXIZZAIEXIE 528,498
Il 426,208
= 102,290
HAF S UHF ML) (2R X2 6,562,000 6,562,000
307 lztol & 6,562,000 6,562,000
02 2IZHBHAIHE £ 6,562,000 6,562,000
OM It 6,562,000
M2RSHARS(MXN2AIE)(=1) 863,370 49,722 813,648
l 575,580
== 287,790
403 AXIEHMSA=Z01d 863,370 49,722 813,648
Il 575,580
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AN sttERSH
B =A2 M4 S5 - 0PI SSH(STHLSN/5Y - 5E5)
(s B [ P ge AR v~ EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
< 287,790
01 AXISHHA= 2L 863,370 49,722 813,648
O&AIM2A14 863,370
Jl 575,580
= 287,790
FIAAIE & =8 & 22lH] X (=1) 11,000 18,000 A7,000
Il 11,000
202 04| 4,000 6,000 /2,000
Jl 4,000
04 = NISt01H] 4,000 6,000 /2,000
OFTAAIEAE =8 & 22ldl XI& 4,000
Jl 4,000
307 lztol & 7,000 12,000 25,000
Il 7,000
02 QB AANEER 7,000 12,000 25,000
OFTAAIZ A= =8 ¥ 22ld] XI& 7,000
Jl 7,000
SEAS(HA, A2) HMALEUs & (=2 213,200 370,500 157,300
Jl 164,000
= 49,200
403 AXIEHMSAH=201H 213,200 370,500 /157,300
Jl 164,000
= 49,200
01 AXISHHA2EE 213,200 370,500 A157,300
OHA, &S MHHAIE S X2 213,200
J| 164,000
=S 49,200
SEXS(AM) AL TS XA (F2) 425,100 514,800 89,700
) 327,000
< 98,100
403 MR EHHSAE01H 425,100 514,800 /89,700
Il 327,000
= 98,100
01 XISHHA =2 E 425,100 514,800 /89,700
Oelar THHHAIE BTHE XI& 425,100
7l 327,000
= 98,100
sSH=Z0F OiURIOIEESE3HATHEUUX) (Z21) 3,461,868 1,862,000 1,599,868
= 3,146,282
< 315,586
403 AXIEHMSAH=0lH 3,461,868 1,862,000 1,599,868
= 3,146,282
S 315,586
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AN sttERSH
B =A2 M4 S5 - 0PI SSH(STHLSN/5Y - 5E5)
(= S 2 [ [P g B L EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
01 XM= 2L 3,461,868 1,862,000 1,599,868
OAITHHEMUXIOHEAIE) 2,823,468
= 2,558,282
< 265,186
OLTHMANHX(SSAIE) 638,400
= 588,000
= 50,400
ESASMUYSNALEH(=1) 1,620,000 1,620,000 0
Jl 1,350,000
=S 270,000
403 X SHHMSAH=01H 1,620,000 1,620,000 0
Il 1,350,000
< 270,000
01 AXIEHHA 22 £ 1,620,000 1,620,000 0
OSEHSA P A ZHE 1,620,000
) 1,350,000
S 270,000
A Tof X EL0IMENAN S NS (ELDIMUSHA 1,665,000 1,665,000 0
S X&) (=1)
= 1,350,000
=S 315,000
308 XX HMSO0IA 1,665,000 1,665,000 0
= 1,350,000
== 315,000
01 HXEHH B EES 1,665,000 1,665,000 0
O DIY=MAM S XN&H 1,665,000
= 1,350,000
< 315,000
HAZ SIEEAIL(Z2D) 2,750,000 0 2,750,000
7l 2,000,000
= 750,000
403 TR SHMSAH=01H 2,750,000 0 2,750,000
Jl 2,000,000
=S 750,000
01 XIS A =2 & 2,750,000 0 2,750,000
OMAF EotEEBAIE 2,750,000
Il 2,000,000
< 750,000
sSHERSEY & st RSN 4,199,940 11,924,585 NT,724,645
= 535,000
Il 1,056,000
< 2,608,940
TRE F4 131,590 373,925 N242,335
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AN sttERSH
M SA2 MM, SE - 0PI 2BH(SAWSSL/ S - =
el SARQESNS U SN2 SERINA (cre:xigl)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
202 04l 4,590 3,825 765
01 SLHoIH 4,590 3,825 765
O=ZEC 2435 2= 4,590
308 AXItHSOIA 14,400 260,100 A245,700
01 HAHHBSEEXS 14,400 260,100 A245,700
OzZZL 243t 14,400
403 AXIEHMSAH=201H 112,600 30,000 82,600
01 XIS A =2 £ 112,600 30,000 82,600
OZZEC 243 12,600
OsS&E A &g £xX 100,000
mSY Crekst 480,000 1,022,300 A542,300
307 elztol & 200,000 475,000 A275,000
04 CIZFHAMAMH 2 & 200,000 475,000 275,000
ORSAIAY Ozt 200,000
308 AHXIEHMSOIE 280,000 547,300 A267,300
01 X HHNBAEXS 280,000 330,800 /50,800
OsttE HJcl =il XI& 180,000
osaY 243t X2 100,000
NeECel ZEE ARXA (A - B UL ) (HEAMY 100,000 100,000 0
)
308 AXIHSOIA 100,000 100,000
01 XN BSELES 100,000 100,000
OXEte) ZCEH PEXA(AH - B
el)(&&h) 100,000
s=SU=sdsdH 29 513,080 138,360 374,720
201 et 3| 10,200 10,560 A360
01 AtR2tc|bl 8,712 9,072 A360
OXSHIE A2 2E 840
OXZHIE LtAMEA 2AL 2| 7,872
2 s5=34l 1,488 1,488 0
OANZHE WAMA 2AL 2| 1,488
202 048l 2,880 2,400 480
01 2L AL 2,880 2,400 480
O SHEH gFFN 2,880
308 AXIHMSO0IA 500,000 125,400 374,600
13 SV [2S0He 4 A AS A 500,000 125,400 374,600
OXZBHE 2 500,000
AN R SII8txd 438,810 967,300 A\528,490
202 04l 3,060 2,550 510
01 2o 3,060 2,550 510
OM RS Jlgtxrd g4 3,080
308 AXIHSOIA 50,000 0 50,000
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AN sttERSH
B Si2 M4 S 0DIY AsHSHHLEM/SY - SE)
el SARQESNS U SN2 SERINA (choy: @2
S - FE - BRI(EH) - AIRAY - BES of v G o HIDE2
01 AXEHNBELES 50,000 0 50,000
OttlIRsS =7 =23 A& 50,000
403 MR HHMSAHE01H 385,750 964,750 /579,000
01 HXIHHA =222 385,750 964,750 A579,000
OIS =7 a=3 A2 41,500
O&tAIM2AI4 XI& 281,250
OAPC Al 22t 63,000
SRS gdat 105,000 165,900 260,900
308 XHXIEMSOIE 105,000 165,900 260,900
01 XN BSELS 105,000 165,900 60,900
OsSEgEdE ZZM XN& 105,000
sSttE 2 243 162,460 388,900 N226,440
201 er=2 3| 580 1,000 A420
01 AtR2t2|HI 580 1,000 A420
ozZY &8st gR=d 580
202 04| 2,880 2,400 480
01 =LHOLI 2,880 2,400 480
oY 243t dfxd 2,880
308 XXM SOIA 9,000 18,000 29,000
01 XN BEES 9,000 18,000 /9,000
ozg stt= disg gdal 9,000
403 MR HHMSAHE01H 150,000 367,500 A217,500
01 MHXIHHA 22 150,000 367,500 A217,500
Oozg stt= HESE3HA 2= 150,000
SSHEHIXA(=1) 598,000 2,119,000 A1,521,000
= 460,000
= 138,000
308 AFAIEHMSOIH 598,000 2,119,000 A1,521,000
= 460,000
=S 138,000
01 XN BELES 598,000 2,119,000 21,521,000
o=sdgl| 598,000
= 460,000
< 138,000
sHMHESAMXSSHH (APC) X (=1) 1,584,000 1,903,500 /319,500
Il 1,056,000
= 528,000
403 AXIEHMSAH=201d 1,584,000 1,903,500 A319,500
Jl 1,056,000
= 528,000
01 AXISHHA=2EE 1,584,000 1,903,500 A319,500
OS4SR SHIE (APC) RIS 1,584,000
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AN sttERSH
¥ siE 44, {8 - 0BIE L (sHlLsd/sE - 5&)
ol SASUESEY (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
< 22,515
01 HXSHHBSEEXS 97,565 97,565 0
oGP otde 24 A& 97,565
= 75,050
= 22,515
GAP PIMAIE E2H(=10) 96,000 52,000 44,000
= 96,000
403 AXIEHMSA=Z0l1d 96,000 52,000 44,000
= 96,000
01 AXISHHA= 2L 96,000 52,000 44,000
OGAP ?IAIE 22t 96,000
= 96,000
ZOMHIA dASHEYE AaEY SSH SAUE4)(= 25,000 75,000 50,000
)
= 25,000
308 AFXIEMSOIE 25,000 75,000 /50,000
= 25,000
01 HRHHBAEES 25,000 75,000 50,000
OFH ANHY SSH sA4xd 25,000
= 25,000
AZAT & BDIBAY 24(21) 195,000 0 195,000
Jl 130,000
< 65,000
403 MR HHMSAHE01H 195,000 0 195,000
) 130,000
= 65,000
01 MHXIHHA 22X 195,000 0 195,000
OAaEAN € BDtE & =4 A& 195,000
Jl 130,000
= 65,000
SLEATHE A JIBEEA AF(Z1) 5,000 4,000 1,000
= 5,000
308 AtXIEHMSOIE 5,000 4,000 1,000
= 5,000
01 XN BSELES 5,000 4,000 1,000
OR+AME A= JIgEd At 5,000
= 5,000
Stugal LesdE 33 27,464,686 36,124,107 A\8,659,421
= 40,000
< 27,424,686
sSoE stugs 83l S8 27,245,590 36,302,577 /8,056,987
308 AXIMSOIA 27,245,590 36,302,577 /8,056,987
01 HAHHBAEEXS 27,245,590 36,302,577 A\8,056,987
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A stE2RSH
M HERHHH(sASSED) (OIEH/IIE
&t JIEZ (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIRS2
A2 J|E2384l 31,503 31,064 439
201 LB-2AY| 21,063 21,308 A245
01 AtR2telt] 21,063 21,308 A245
OFA2F AtR2teld] 21,063
202 04dl 6,840 6,156 684
01 =ZLHOdHI 6,840 6,156 684
FA2E LAY 6,840
203 AR F=&lY| 3,600 3,600
M FA2IHRFAL 3,600 3,600
©209! 0I5t 3,600
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